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QUESTION 1

A user is part of the Employees LDAP group synchronized with AEM. The same user is added to the authors group in
AEM. The user is then removed from the Employees group on the LDAP server.

What is the result during the next synchronization with AEM?

A. The user is removed from both the Employees and the AEM authors groups

B. The user is removed from the authors group but not the Employees group in AEM
C. The user is removed from the Employees group but not the authors group in AEM
D. The user is not removed from either the Employees and the AEM authors groups

Correct Answer: A

QUESTION 2

A website built on AEM Sites displays the company\\'s stock price in the footer of all pages. The stock data is retrieved
from a third party REST service using two-way SSL and rendered in an AEM component using HTL During performance
testing in the last development sprint it becomes apparent that the third party service sometimes takes up to 30 seconds
to respond, which degrades the overall site performance.

How should an Architect address this issue?

A. Call the REST service directly from the browser

B. Temporarily remove the component from all content

C. Load the stock data component asynchronously

D. Add a 5 second timeout to the REST call

Correct Answer: C

QUESTION 3

A customer has an international presence and a strong brand image. The customer considers the exceptional quality
images used for both print and on the website to be essential for its business, The customer uses AEM 6.5 managed
services with a configuration of 2 dispatchers, 2 publishers, and 1 author.

The original images can weigh up to 500Mb with videos weighing even more. Renditions are generated after files are
uploaded to AEM DAM by the Design team so the Authoring team can use them on the website.

The teams report issues with platform stability and slowness. Visitors report that images look pixelated on some screens
and pages are very slow to load.

Which two actions should the Architect take to resolve these issues? (Choose two.)

A. Train the design team to upload smaller assets and save the originals elsewhere
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B. Allocate more memory to ImageMagick and FFmpeg

C. Optimize renditions for the different viewports used by the visitors

D. Split AEM Assets and Sites in two different stacks and use Connected Assets
E. Add more dispatchers and publishers to the AEM configuration

Correct Answer: AD

QUESTION 4

A client has an existing AEM site using components that proxy AEM WCM Core Components. The site uses simple
page authoring without referenced content, The client wants to create a new experience on another marketing channel.
The plan is to use as much of the existing page content as possible to avoid refactoring the current content and to
maintain consistency across channels.

Which AEM capability should an Architect use to meet these requirements?

A. Experience Fragments

B. Content Fragments

C. Assets API

D. Sling Model Exporter

Correct Answer: B

QUESTION 5

In a client\\'s test environment AEM QA Testers from multiple groups and regions are testing and making requests to the
AEM application. Due to the sheer number of hosts making connections, an Architect needs a quick and easy way to
allow any hosts to make requests to the AEM application.

Which approach should the Architect take to meet this requirement for this non-production environment?

A. Add GET as a Filter Method in the Apache Sling Referrer OSGi Configuration

B. Use Allowlists instead of Blocklists in the Dispatcher Configuration

C. Restrict Clients that can flush the cache in the Dispatcher Configuration

D. Enable Allow Empty in the Apache Sling Referrer OSGi Configuration

Correct Answer: A
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